INSTRUCTIONS

b

EEEsh J05821 2014-09-09
WINDSHIELD MOLDING KIT

GENERAL A WARNING

Kit Number
61300310, 61400325
Models

For model fitment information, see the P&A Retail Catalog or
the Parts and Accessories section of www.harley-davidson.com
(English only).

Kit Contents

is07547

Figure 1. Service Parts: Windshield Molding Kit

Table 1. Service Parts

Item Description (Quantity)
1 |Spacers (3) 12400076
2 |Windshield molding Not Sold Separately
3 [Screws, Phillips, oval head, 1/4-|10500049
20 x 3/4 inch (Chrome) (2)
Screws, Phillips, oval head, 1/4- 10500076
20 x 3/4 inch (Black) (2)
4 |Screw, Phillips, oval head 1/4-20|10500050
x 2-1/4 inch (Chrome)
Screw, Phillips, oval head 1/4-20 (10500077
x 2-1/4 inch (Black)

Additional Parts Required

Separate purchase and installation of additional parts or
accessories may be required for proper installation of this kit
on your model motorcycle. See the P&A Retail Catalog or the
Parts and Accessories section of www.harley-davidson.com
(English only) for a list of required parts or accessories for your
model.

Part Number

J05821

r@Many Harley-Davidson® Parts & Accessories are made of plastics and metals which can be recycled.

Rider and passenger safety depend upon the correct
installation of this kit. Use the appropriate service manual
procedures. If the procedure is not within your capabilities
or you do not have the correct tools, have a
Harley-Davidson dealer perform the installation. Improper
installation of this kit could result in death or serious injury.
(00333b)

NOTE

This instruction sheet references service manual information.
A service manual for your model motorcycle is required for this
installation and is available from a Harley-Davidson Dealer.

INSTALLATION

1. Insert three screws from kit into countersunk holes in
molding with long screw located at center of molding.

2. Slip rubber spacers from kit onto screws with countersunk
end facing the molding.

NOTE

Be careful that windshield does not fall after screws are
removed in step 3.

3. With a T27 Torx® driver, remove the three screws and
washers at the bottom of the windshield. DO NOT
REMOVE OUTER FAIRING.

4. Align the windshield molding with the three mounting holes
and thread screws into threaded inserts in inner fairing.

NOTE

In the following step, do not exceed 30 in-lbs to avoid
damage to the inner fairing.

5. Check that molding is symmetrically positioned and tighten
screws to 2.8-3.3 N'm (25-30 in-lbs).

1/1

Please dispose of materials responsibly.


https://service-qr.harley-davidson.com/qr?locale=en_US&ref=J05821

	GENERAL
	Kit Number
	Models
	Kit Contents
	Additional Parts Required

	INSTALLATION

